Id RA DEC r i z Y J chl | ch2

2335 | 10:29:45.4 | +05:16:12.7 | >27.35 | >27.05 | 25.35 | >24.32 | >23.83 | — -

Tabella 1: FAINT: ID 02335 FLAG 2
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Id RA DEC r 1 z Y J chl ch2

3909 | 10:30:07.9 | 4-05:17:27.7 | >27.67 | >27.29 | 25.55 | >24.76 | >24.90 | >23.38 | —

Tabella 2: FAINT: ID 03909 FLAG 2

£ 20
235 3 ]
15F ]
2t ID03909 E :
1.0F ]
25F E ;
N > 05k " E
261 El N s .:'.A, 3]
i 0.0 2 < a =
3

3 —05[F : E
a ] ‘ |
E —10F 1

29 . . . . . . E ‘ ‘ ‘ ‘
600 700 800 900 1000 1100 1200 1300 o : : s .

-z
T T T T T T
2,.=5.94 [5.76,6.13]

1.5

— 1.0
<
»
E 0.5 <
S &
o
2 00
W
-0.5F
-1.0 1 1 L L L
0.5 0.8 1.3 2.0 3.2 5.1 0 1 2 3 4 5 6 7

Wavelength [um] Redshift



Id RA DEC r 1 / Y J chl | ch2
5674 | 10:30:23.6 | +05:18:44.4 | >27.39 | 26.77 | 25.44 | >24.81 | 23.62 | 21.52 | —
Tabella 3: FAINT: ID 05674 FLAG 2 esteso
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T
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Tabella 5: FAINT: ID 11792 FLAG 1
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Id RA DEC r i zZ Y J chl | ch2

12143 | 10:30:53.4 | +05:23:32.6 | >27.69 | >26.92 | 25.34 | 24.22 | 23.34 | 22.79 | -~

Tabella 6: FAINT: ID 12143 FLAG 2
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Id RA DEC r i Z Y J chl | ch2

15042 | 10:30:11.4 | +05:25:37.8 | >27.60 | >26.85 | 25.21 | >24.82 | >24.70 | >23.29 | —

Tabella 7: FAINT: ID 15042 FLAG 2

15042_Z 15042 Y
Tl i F

wi  ID15042

25F El ]
‘ i \T/ > 08¢ E

26F E N RO 1
E 00F g E

27F E ot ]
-0.5] B 4
28F \L El : ]
E| -1.0F B

29 1 1 1 1 1 1 3 L L L L
600 700 800 900 1000 1100 1200 1300 0 1 2 3 4

1D 15042

15[ 2,.=5.90 [5.67,6.10]

—
o

o
o

0.0

F, [e®ergcm?s' A

1 1
0.5 0.8 1.3 2.0 3.2 5.1
Wavelength [um] Redshift




Id
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Tabella 8: FAINT: ID 15901 FLAG 2
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Id

RA

DEC r 1 /

chl

ch2

17435

10:30:05.8

+05:27:13.4 | >27.20 | >26.95 | 25.37 | >24.80 | >24.64

>22.42
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Tabella 9: FAINT: ID 17435 FLAG 2
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Id RA DEC r i zZ Y J chl ch?2

17470 | 10:30:54.4 | +05:27:15.4 | >27.81 | >26.96 | 25.33 | >24.89 | >24.88 | >23.40 | —

Tabella 10: FAINT: ID 17470 FLAG 1
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Id RA DEC r i zZ Y J chl ch?2

17612 | 10:29:44.6 | +05:27:19.6 | >28.00 | >26.95 | 25.43 | >24.71 | >24.72 | >22.32 | —

Tabella 11: FAINT: ID 17612 FLAG 2
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Id

RA DEC r

i

Z

chl

ch2

18262 | 10:29:55.3 | +05:27:47.3 | >27.66 | >27.36
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>22.67

Tabella 12: FAINT: ID 18262 FLAG 1
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Id RA DEC r i zZ Y J chl | ch2

19059 | 10:31:13.3 | +05:28:22.9 | >27.78 | >26.70 | 25.71 | >24.04 | >24.12 | — -

Tabella 13: FAINT: ID 19059 FLAG 2
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Id RA DEC r i zZ Y J chl ch?2

19668 | 10:30:50.8 | +05:28:50.5 | >27.77 | >27.07 | 25.57 | >24.97 | >24.84 | >22.48 | —

Tabella 14: FAINT: ID 19668 FLAG 1
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Id RA DEC r i zZ Y J chl ch?2

20654 | 10:30:00.9 | 405:29:33.8 | >27.42 | 26.80 | 25.27 | >24.92 | >24.94 | >22.63 | —

Tabella 15: FAINT: ID 20654 FLAG 1
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Id RA DEC T 1 Z Y J chl ch2
21945 | 10:29:55.3 | +05:30:31.8 | >27.30 | >26.87 | 25.15 | >24.92 | >24.77 | >22.21 | -
Tabella 16: FAINT: ID 21945 FLAG 1
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Id RA DEC r i zZ Y J chl | ch2

22752 | 10:31:09.6 | +05:31:04.1 | >28.03 | >27.10 | 25.90 | >24.77 | >24.39 | — -

Tabella 17: FAINT: ID 22752 FLAG 2
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Tabella 18: FAINT: ID 22914 FLAG 1
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Id RA

DEC r i Z

chl

ch2

23047 | 10:31:02.9

+05:31:19.7 | >27.80 | >26.61 | 26.18

>24.92

>24.64

Tabella 19: FAINT: ID 23047 FLAG 3
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Id RA DEC r i zZ Y J chl ch?2

23132 | 10:30:04.1 | +05:31:23.4 | >27.93 | >26.98 | 25.33 | >24.84 | >24.93 | >22.64 | —

Tabella 20: FAINT: ID 23132 FLAG 1.5
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Id RA DEC r i zZ Y J chl ch2

23452 | 10:30:19.7 | 405:31:41.4 | >27.55 | >26.67 | 25.92 | >24.94 | >24.86 | >22.27 | —

Tabella 21: FAINT: ID 23452 FLAG 2
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22

Id RA DEC r i z Y J chl ch2
23526 | 10:30:27.9 | 405:31:44.2 | >27.63 | >27.10 | 26.32 | 24.85 | >24.64 | >22.75 | -
Tabella 22: FAINT: ID 23526 FLAG 1
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Id

RA DEC r 1 VA Y J

chl

ch2

26972 | 10:30:19.2 | 405:35:05.1 | >27.94 | 27.03 | 25.24 | >24.97 | >24.69
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1d RA DEC T i Z Y J chl | ch2

27850 | 10:30:39.2 | +05:35:53.3 | >27.91 | 26.67 | 25.85 | >24.93 | 24.48 | — -
Tabella 24: FAINT: ID 27850 FLAG 2
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Id RA DEC r i zZ Y J chl | ch2

30511 | 10:30:59.4 | +05:38:27.5 | >27.36 | >26.93 | 25.62 | >24.54 | >24.07 | - -

Tabella 25: FAINT: ID 30511 FLAG 1
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